Table 4 –LAI values (ha/ha) and its correlation with leaf mass F1, (t/ha) 
(by Utkin А.I., 2008)
	Tree species
	Regression equation
	R2

	European spruce (Picea abies)
	LAI = 0.80+0.56F1
	0.61

	Sibirian fir (Abies sibirica)
	LAI = 0.60+0.5l F1
	0.72

	Scots pine (Pinus sylvestris)
	LAI = 0.14+0.47F1
	0.66

	Sibirian larch (Larix sibirica)
	LAI = 0.20+0.57 F1
	0.83

	Silver birch (Betula pendula)
	LAI = 0.94+1.43 F1
	0.85

	Common aspen (Populus tremula)
	LAI = 0.94+1.43 F1
	0.85

	Small-leaved lime (Tilia cordata)
	LAI = 0.47+1.79 F1
	0.95

	Coniferous stands (19% - European spruce, 79% - Sibirian fir,2% - other species)
	LAI = 0.27+0.49 F1
	–

	Deciduous stands (10% - Scots pine, 88% - Silver birch and common aspen, 2% - other species)
	LAI = 0.90+1.47 F1
	–

	Mixed deciduous stands (75% and more)
	LAI = 0.74+1.30 F1
	–

	Mixed coniferous stands (75% and more)
	LAI = 0.43+0.74 F1
	–
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